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010 MATLABOOOOOO
HEN

1.1 MATLABOOOOOO

0000000000000000000,The MathWorks,Inc. 0 MAT-
LABOOOOOOOO.00 MATLABO CO0000000000000
000000, Toolbox 00000000000 Simulink 000000000
00000000000000. 20060000000 MATLABR2006a 0 O
000000000 2000000,R2006a 000 R(elease),2006(0 ),a(0 )
00o0o0o0o0O0ooooo.

00 MATLABOOOOOOOODOOO,000000000000000
0,MATLABOOOOOODOOOOOOO0OO0O0OO.0000,00 MAT-
LABOOODOOOODOO000O000000000000000000000
oooo.

MAT
e ATLABOOODOOOO N
e Octave
e RLaB
e SciLab
e Yorick
\ J

oooooboobooobooogoboooooo.o,0oboobooooboo
ocoooo,00000O0opoooOo,0000oooooooo0.o,000
cooooo,00oooooooooog,ooooooooo.

0000 Octave 00 MATLABOOOOOODOOOO MATLABODOO
oooopoooOoooooooO0.0o0,0D0o00000 MATLABOOOO
O0,enuplot 0000 Octave DO0O0O0OO0O0O0OOOOOOOOO,0000
gooo.

RLaBO MATLABOOOOOOOOOOOOOO.O0O0OOO OctaveO
o0o0oooo, MATLABODOOODOOODOO,000000 Octaved0O
gbooooboooobooo.

SciLab 0 MATLABO Octave 00000000 OOO0OOO,0000



O0000000oOo.000 MATLABOOOOOOOOOOOOO.O
0 ,SciLab 0 0 MATLAB O Simulink 000 SCICOSO OO, 00 SCICOS
gobodoooooobooooooboooo.o,oboboooooa
000000 SciLabO0000O0O0OOO0ODO. ODODOO, 00000000,
Oo00o0ooOoOooooooOoOOODOOO.

000 yorick 0000, 0000000 MATLABOOOOOQOOODOO
O,orick 000000000 COOO00OO0OOOOOOOOOOGO,000
OMATLABOOOOOOOOOOOOOOOOOO.00,0000000
O000,000,00000000000000000D0000000O000CO.

0000 MATLABOOOODDODOOO,000000000O0000OO
000000 Octave OO0, 000000D00,000000D00000O
ooooooooooooo.

0,00000000 MATLABOOOOOOODOOOOOO.MATLABO
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000 MATLAB 5200, 00000000000D00OCO000O0O0O0O0OO
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guootdbootug

2.1 JUO0oooooooobobon

Octave 1000000 MATLABR2006a 0 00000000 OOOOO
O0000000oooooOoOoOoOO0O0ODOOd.Octave O readline 0 O
U0 EmacsU000000O0O0O0O0DOO0OOOD.O00000000O0O
O0D0o0DpoOoDoo,Octave OO OOOOOOO, 000000000
gbooo.oboo,0boobooogbooboobooboooooboon
00000000 ,Emacs0 TeXmacs 000000000 0O0O0O0O00OO
oooooo.

TeXmacs 0O O O MaximaDDDD,DDDDDDDDD]DD \DD]DDDDD

O00,000000000000000000000, OctaveO OO0 TeX-
macs 0 Octave D0 0OOO00.00,0ctave 00000000000 DO0OCO
00o00o00.00 TeXmacsDOOODOOODOOOODOOODO ,Maxima [
Macaulay2 0000000000000 D0OOCOO00ODOOOOO0ODOO
O00. 303000000000000 TeXmacsOOOODOOOOOO
2100000000.

TP Wk A tvvay &R XF 335 B BE AT
CDadgeax|imakihRoe DassoH"s
EZE=Z@%|IBSHE

A
GNU Octave, version 2.1.64 (i686. inux) .
Copyright (C) 2004 John W. Eaton
This is free software; see the source code for copying conditions.
There is ABSOLUTELY NO WARRANTY; even for MERCHANTIBILITY or
FITNESS FOR A PARTICULAR PURPOSE.
Additional information about Octave is available at http://www.octave.org.
Please contribute if you find this software useful.
For more information, visit http://www.octave.org/help-wanted.html
Report bugloctave. org> (but first, please read
http://wwi.octave.org/bugs.html to learn how to write a helpful report).
octave> A=rand(,5)
octave> A~(-1)
—07601 04972 1017 —0.9467 05885
139 —3031 1081 —06059 08452
1349 0.5228 —0.4216 —0.8777 —0.7437
—1227 2058 —0.2867 162  —0.87 L
0273 0288 —1193 05387 07982
octave> |
W
—17(generic) program roman 10 7 [idle] octave BERE €Y¥aY input Bt

O 21: TeXmacs DOOOOOOOODODOOO

obooOo,00b0000b000b00bbo0obobo0obobD.bod, Maximal



gbooooboooobOoboooobooooboobooooOobooon
O000MATLABOOOOODOOOOOOOODOODOO,0000000
oooooooobo. oo, 00booobooboobooobooobbooobo
gboooobo,booooboobooooooa.

2.2 OctaveO OO QOO0

Octave 00000000 D0O00O000O0D. 0000000000000
DDDDDDDDDDDDDDD.DDDDDDDDD Help
0000,00000000000000000000000000000
000000.00000000000,m000,MATLAB O Octave O O
M-file0ODOO.

0000 MATLAB/Octave 0000 MAfile000O0000000.00,M
000000000000000000000000,help00000O000.
00 help 0000 MATLABOODOOOO.

0,0ctave 0 help 00 MAfile 000000 O0O0OD000ODOOO0OOO,
lhelp -1 (DD )|0ODDOODOODOOOOOO.

000,00000000000000000000000000000
D7DDDDDD Octave 00000000 D0OODOO,D00
0000000000000000000000.

00 help -i0000,Texinfo0 000 info0000000000000.
000000000 WebBrowser 000000000000000000.
000,0ctave 0000000000000 0000O0000O00O0O,00
less 0 Texinfo0 OO0 GNUODOOOOOOOOODOOODOOOOOO
00.0

MATLABOOOOOOOD, 000 MATLABODO OO helpOO OO0
00D000000000.000000000000000,0000000
ooooooo.




(130 Octavel [

OO0000D00O0 Octave DO0OO0ODOOOODODOO.Octave DO O OO
gboooooooobooooob.b0o0o, 0000000000 0bo0oo0on
0O ,MATLAB/Octave 00 0000000000000 OOOOOOOODO.

3.1 0OU

Octave 000000 COODODOOOO0O0DOODOO.O000,1+2%3—42
000000000000, 1+2«3-4"200000000.0,0ctaved 00
gobooobooo,ooboooboooboooobobooobooobon
0.000,0ctave0 0000000 330000000000000O.

Octave 0O DODODODOOOCOO;O00D000000OOOOOOOOO.
gobobooboobooboobuooboobooboooon.

octave:1> 1+1;
octave:2> 1+1

ans = 2

0000000000,00,00000000000,000,000000
00.000,0000000000000000,00,%abe’ 0"efg" O00.
0 ,MATLAB/Octave 10000 (=00000)00000000.000
0000000000 (,)00000000000 (Q)00000000.
0000000000000000.000000000000000000
ooooooo.
0,["123","abc"] 00 0000000000000 O0O00000000
0000000000000000.000000000000000000
0000000,0000000 [0000000000.
000000000000000,000000000000;00000
oooo.

000 SciLab,MATLAB,Octave 0 0000 000000.0000000
00O00o0o00o0O0oo0o.



octave:20> [1,2,3;4,5,6]°

ans =

w N =
(o) BN 2 B SN

octave:21> [1,2,3]

ans =

octave:22> [1;2;3]

ans =

0000000000 MATLAB/Octave 00O OO0O0O0OOOOODOOO
ogooo.o,0cobooocooooo,,oboooov,0obob. O
g,;"ooooco .»0oboboooob. oo 000 ob0oboon
gbooooooooo.

00,000000 oa0i0j00000 a(i,;p 000000.000 14,
oobooooobooooobo1oboo0obo.0oooboobooobooobo
oooooooooooooodt,a,2)=10000000000000
0000O0ODbO0ODbO0ODbD.00,00000000 a(1,2)=10000,a01
020000000000000.000,1020000 a1,22 00010
O00oo00000000.00,@,2=10000000000,000,a0
Jb020000000,00000000000000O0O0O0OOOOOO0O
g.joobooboboboooooooooooboboboobooooon.
O0000,a0mO0n00000000 ,a(i,j)0 al(-D*m+i) 0000
oooobD.00,00000 a0O00OD00OO0OO0ODOODOODOOODOOO
U.a0l0000C000,00000 «0000D0OO0O0OOOOOO,a00000



gbooooooooo.0,bo0000booboobooobo0ooocooboon

gboooooboobo.cobobooobooboboooooboon.
oo,0o0o0,00b0,00ooo,obobogbooooooobooooo

gobooooboooo.coobooobooooo 3200oooooooon.

3.2 00O

Octave 000000000 ODOOOOOOOOOOOOOOOOOOOO
0,00000OctaveJ0000000000O0,000,0ctaved000O0O0O
00000000 (000for,if0)0DODDO0O0DD0O0D0D0O0.000,x0 i1
goboobooboobooboixOx+y 0o ooooobooooo
gooo.

oO0,0000000D00C0=00000.00==0cCcO000DO0DOOOO
goooog.

a = 1.2000
octave:4> a

a = 1.2000
octave:5> c=pi

c = 3.1416
octave:6> s=a"2+*pi
s = 4.5239

O000,Octave 0 MATLABOOODODO »,000 e0000O00O ¢00
oboboooooooooooooo,00ooboooboo0oooboooooon
00000000000 .MATLABO Octave 00 ,0000000 (0DOO
0000)0 pie,i000000000,000000000000000
gbooooboooob.oo,0booooboobooooooa.

ooO0fr000000,0000,00i00000D0C00000O0D,0
oigbood ;000oboooboooboooobooooo,bbooooboogoobo
gbooooooooo.

octave:1> pi
pi = 3.1416
octave:2> i
i=0+1i
octave:3> e
e = 2.7183

octave:4> ix*i



ans = -1

octave:5> a=1+i;
octave:6> b=1-i;ax*xb
ans = 2

octave:7>

OO0O0O0O,MATLABO Octave U0 i,epi 0 0000000000000
00o000o0o0oo0ooO0ooOoUooUoU0oO0o0ooooooO(Doo,o
O000ooOoOoooooooooooon).

obooboooboobO0ob00OwhoODOOOOOOOOOOO.OO ,type
gobobobooboobooboob,obooboobooboon.

gobgbibpidb0b0O0OODOODOODO.

octave:1> who

octave:2> type i

i is a builtin function
octave:3> i=2

i=2

octave:4> ixi

ans = 4

octave:5> type i

i is a user—defined variable
2

octave:6> type pi

pi is a builtin function
octave:7> pi=10

pi = 10

octave:8> i=sqrt(-1)
i=0+1i

octave:9> pi=acos(-1)

pi = 3.1416

octave:10> who

**%*x Jocal user variables:
i pi

octave:11> type pi

pi is a user—-defined variable
3.1416



octave:12> for i=1:10
> ix2;

> end;

octave:13> i

i=10

octave:14> type i
i is a user-defined variable
10

ooooo,0000b0whoOOODOOOUODODODOODOOODOOOO
oooo,ibpid0000000OC0O000DOO00oDOO0ooOoOooooO
OO0,whoOODODOODOOOOOOOODDOiID piOOOODODDO.OO
obooooobooobosyped 00000, 00000000000000RO
oooooooO0ooooooOoooooo.oo for00OO0iboOoOoonO
o0oo000oo00oo0ooogoo. oogjooooforonooOonO
gbobobooooooooobooo,obobooo ,23,---000000
ob0,iid0Oooobooooobooooobooooooobooooooo.

0,000000 eps00000.00000000 (Ocatve 0000
eps=2.2204e-16, 00,0000 00000000O0CO0OOOOO)000O
O000,000000000000,while0000000D0 eepsO0000O0O
oboooobooooobooboooobobooobobooboobooon
ooo.

00 ,MATLAB/Octave 00000000000 D.COO0DOOODOOOO
0000, MATLAB/Octave 00000000000 O0O0OOO .neko.name
obobobo.ocoooboboboboboboboooooobooooon
ooo.

octave:1> neko.namae="[O["
neko =
{

namae = [0

octave:2> neko.weight="5kg"
neko =
{

namae = [0

weight = bkg

10



octave:3> neko.age=2
neko =
{

age = 2

namae = [0

weight = bkg

00000000 nekoOODOODODODOO.OO0DOODOD,0000O
goooooo,000000O0bO0o0o0ooobooog.

0,000000 nekoO0 000000000 DOOODODOOODO,000
000000000000 OctaveO0 isstruct 00 OOOOOOOOOO
00000 structelements 0000000 O0OO0OODOO.

octave:4> neko
neko =
{
age = 2
namae = [

weight = bkg

octave:5> is_struct(neko)
ans = 1
octave:6> struct_elements(neko)

ans =

age
namae

weight

octave:7>

isstruct U0 00000 1000,000000000000.0000
MATLAB/Octave 000000000 100,000000000. O,MAT-
LABOOOOOOOOOOOOOOOO,0o00oooooooO. ooo,
obooooooooon.

11



3.3 U

MATLAB,Octave D000 COOOOOOOOOOOCOOOOODOOO
O0000. 000,1+2+3+4°5+6/7 0000000 O ,0ctave/MATLAB O

1+2-3+4°+2000000.

gbooobooboboo,gobobooboooo.ooboooboon

gbooboobooooooao.

000 MATLAB/Octave DO0O0OO0OOOO0OOOOO.0O,000000
gboooogo,oboboooooboooon.

- MATLAB/Octave 0 00 0 ~

oo | oo

O (+) A+B,a+b,A+b 00000000,00000
oooo

a (-) A-B.,a-b,A-b 00O00oOoo0Oo,00000
oooo

O (%) A*B.a*b.a*B 000O00000,00000
oooo

o (") a’b,A"b,a"B oooo

0 (/) A/B,a/b,A/b 0000000, 00000
0oo00ooOooOoooooag.
A/B=A*B"(-1) 000

o (\) A\ B,a\ba\B A\DOODOOOO,0000
0000o00000oooog.
B=A"(-1)*BO0O0O

O (*)  A*Ba*ba*B ooooooooooooog,
0000oO0O0oon

O (") A’ Ba. "bA. b, a. "B oooo

0 (/) A./Ba./ba./B 000ooo0oo0ooDoooooo
()),0oooooooag

O(\) A\Ba\ba\B,A\b 0000000D0O0O0O0O0OO
(\), 000000000

oo () A ooooo

N J

0,0000000000000,FORTRANODOOOOOOOOO*+x0O

gobo-booogooboooog.

12



oo0,0000000000ooooooO.00 ADDOCO BOooooood
ooo.

octave:1> A=[1,2;3,1]
A =

octave:2> B=[5,1;2,1]

3.3.1 0O (+),0 (-)

octave:3> A+1

ans =

octave:4> A-1

ans =

octave:5> A+B

ans =

uboboo+oobo-bob0,00000b00b00000000000000
gbooboooooo,00boo0ooooooooo,ocooo0,b0000o0
gboooooobooooon.

13



3.3.2 0 (*)00 (%)

octave:9> Ax*B

ans =

9 3
17

octave:10> A.*B

ans =

00000000,000*0000.0000000000,000000
000000000,00000000000,0000000000000
000.00,000*0000000000000.00000,000.*0
0oooooooooo.

00,00 A=(4;;)0 B=(B;;) 000,A*B=(A4;; * B;) 00000. O
000O040000.000000000000000000000.

14



3.3.3 0 (°0.")

octave:29> A."2

ans =

octave:30> 27A

ans =

5.6453 4.3104
6.4656 5.6453

oooo"oooopooooboooooooo.

3.3.4 0 (/),0 ()

octave:15> A/B

ans =

-1.00000 3.00000
0.33333 0.66667

octave:16> A\B

ans =

-0.20000  0.20000
2.60000  0.40000

octave:17> Ax*B~(-1)

ans =

-1.00000  3.00000
0.33333 0.66667

15



octave:18> A~ (-1)*B

ans =

-0.20000 0.20000
2.60000 0.40000

octave:19> 2\B

ans =

2.50000 0.50000
1.00000 0.50000

octave:20> A/2

ans =

0.50000 1.00000
1.50000 0.50000

0000000000000,A/B=A*B"(-1),A \ B=A"(-1)*B0000
000000.0000000000,00000000000000000
0,0000000000,000,B\202/A000000000000.

0,00000,0000-00000000.

octave:10> [1,2,3].*x[2,3,1]

ans =

octave:11> [1,2,3].7[2,3,1]

ans =

octave:12>

16



34 UUOOOOOOO

MATLAB/Octave 0000000000000 OCO.O00000O0OOOO
gboooobooboooooboboooog.

oboooobooooobooboooobobooobooboooooboon
g, 0boo0ooobooogobooooon.

Ub,0000000 sizeOOOOODOODO. ODODOO lengthOOO
go,00000000000b0o0obooobooobo.o,0b00o0000,0
obooooooo.

octave:23> a=[1 2 3;4 5 6]

octave:24> a(1,2)
ans = 2

octave:25> a(4)

ans = 5
octave:26> a(3)
ans = 2

octave:27> size(a)

ans =

octave:28> length(a)

ans = 3

MATLAB/Octave 000000000000 0OOOOOOOOOO. OO
0,0000a0i000000 a(1),00 AD0iD0jO0000DO AL, )0
DD|:|DD.MATLAB/OctaveDDDDDDDDDDDDDDD,CDDDD
ogool1ooooooo.

0000000000 MATLABOODODOODODOODOODOOODOO
goboooooooboooooobboooo.oo,bbuoooda
i[]l:]l:l[]l:][ll:lj(Zi)DDDDDDDDDDDDD a(i:j) 0Ooooono.
god,0ba0dib0b0d0od0bboooobbjooobbboooooo
O000O0a(i,:) Oa(:,j) 0000O0ODO.

17



gbooooobooooooboooo.

octave:32> a=[1:4;5:8;8:11]

a =

1 2 3 4
6 7 8
9 10 11

octave:33> b=a(2,:)
b =

5 6 7 8

octave:34> c=a(:,2)

c =

a(2,:)000 0000000000 (D0O0)ODODOOOOOOOO.O
o000, :,2200000000000000000000DO.

0000 MATLABO Octave DO, 00":" 0000000000 O0OO
gbobooooooon.

ooboo :»oboo0o,0boboboooooocoooooooo,on
obooogoobooooboobobooobobooooooo.

octave:37> a=rand(4,4)

a =
0.204195 0.372247 0.195707 0.529230
0.063849 0.915721 0.857846 0.630308
0.191641 0.602701 0.667216 0.162591
0.261563 0.435798 0.732046 0.561905

octave:38> b=zeros(4,4)

18



o O O O
o O O o

octave:
b =

o O O O
o O O O

39> b(:,2)=a(:,4)

0.00000 0.52923 0.00000 0.00000
0.00000 0.63031 0.00000 0.00000
0.00000 0.16259 0.00000 0.00000
0.00000 0.56191 0.00000 0.00000

0,a(:

ooog

octave:

a =

o O O O

octave:

c =

octave:
error:
error:
error:
error:
error:

octave:

, 1 )00000000,000000000D0O0DOO:"00000
,00bo0oooboooboooa.

39> a

.204195 0.372247 0.195707 0.529230
.063849 0.915721 0.857846 0.630308
.191641 0.602701 0.667216 0.162591
.261553 0.435798 0.732046 0.561905

40> c=zeros(2,2)

41> c(:,2)=a(:,2)

a(i, j) = x: x must be a scalar or the number of elements in i must
match the number of rows in x and the number of elements in j must
match the number of columns in x

assignment failed, or no method for ‘matrix = matrix’

evaluating assignment expression near line 41, column 7

41> a(:,2)=a(:,2)

19



error: a(i, j) = x: x must be a scalar or the number of elements in i must
error: match the number of rows in x and the number of elements in j must
error: match the number of columns in x

error: assignment failed, or no method for ‘matrix = matrix’

error: evaluating assignment expression near line 41, column 7

octave:41> a=a(:,4)

a =

.52923
.63031
.16259
.56191

o O O O

gogbooooooboog -~ggbbooobbooobboooboaan
gobooooboo.oo,0boooobobooooy:"bboobbooobo
gbooobooooob.boooob,boobobooob0oooboobooon
o.00,00b0000000b00000bo0ooocooboooon.

octave:43> d=zeros(10,2)
d =

O O O O O O O O O o
O O O O O O O O O o

octave:44> a

a =

.204195 0.372247 0.195707 0.529230
.063849 0.915721 0.857846 0.630308
.191641 0.602701 0.667216 0.162591
.261553 0.435798 0.732046 0.561905

o O O O

20



octave:45> d([7:10],1)=a(:,1)

d =
0.00000 0.00000
0.00000 0.00000
0.00000 0.00000
0.00000 0.00000
0.00000 0.00000
0.00000 0.00000
0.20419 0.00000
0.06385 0.00000
0.19164 0.00000
0.26155 0.00000

ooooooooooobooooo,ooow-."o0obooboooooo
gboooboo,0oooobooooboobooboobobooo,obooon
obobooooooon.

o,0b0:0000,00000000Db00obDO0o0oO0bOoobOo.ooo
o,000:000:001000000.0001:501:1:5000000,
gbol1gboobooooooobobooboo.0o:2:60000,600000
ooooooooo,13s51000000.

octave:111>bb=[0:0.1:0.5]
bb =

0.00000 0.10000 0.20000 0.30000 0.40000 0.50000

00,000 for00000O00O0DOOOODODOOODOOO,00000
ooo00o0O0oO0.00for000000O0DO0O0ODO0OOOOOCOODOOOO
gb.0o0b0ooooooooooon.

octave:116> tl=time;for i=1:100; bb(i,i)=0.01%i;end;t2=time;t2-t1
ans = 0.0047450

octave:117> ti=time;dd=[1:100] ;t2=time;t2-t1

ans = 4.9114e-05

oooooofor000000DOOOO0ODOOOODOOOOO.
O0o0, 000000000000 forO000O0O0OOOOOOOO.
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3.5 UUoopggdg

gbobooobooooboo,coboooooooobooobooboooboo. o
0, 0000000000000000000 diag 000000 .diaglO
obooooooooboooooboooobooooo.oboo,0o0booon
gbooooobooo,bobooboooboobobboooobooboooDo.

gboooboobi1bobooouobouobObbeyeboooonoa.

octave:118> diag([1,2])

ans =

octave:119> diag([1,2],1)

ans =

o O O
o O =
S N O

octave:120> diag([1,2],2)

ans =

o O O O
o O O o
O O O -
o O N O

octave:121> diag([1,2],-2)

ans =

O » O O
N O O O
o O O O
o O O o

22



octave:122> a=rand(3,3)

a =

o

.58905 0.61873
.192561 0.11602
0.54143 0.83113

o

octave:123> diag(a)

ans =

0.58905
0.11602
0.83952

octave:124> eye(3,2)

ans =

O O =
O = O

octave:125> eye(2,3)

ans =

0.63411
0.18785
0.83952

23



3.6 U

Octave 0 MATLABOOOOOOOOOOOOOO.O00,000000O
O0O000Ooooooo.Octave 0000 OOOOOODOOOODOOOOO
gooo.
ooogooo

1
anx™ + ap_12" M+ -+ ax+ag < |an,@n-1,,a1,0a0]

obooo,000b 1ob0b0b0ooboobooog.
0,00000000 convODDOO0OD0,deconvO0000D0O0OO0O0OO
O00,polyval DOO00ODOOOOODOOOODOOOOODOOO.

octave:2> conv([1,2],[1,-2])

ans =
1 0 -4

octave:3> conv([1,2,2,1]1,[1,-2])

ans =
i 0 -2 -3 -2

octave:4> [aa,bbl=deconv([1,3,3,1],[1,1,1])

aa =

octave:5> polyval([1,2,3,4],2)

ans = 26

00000,000 conv([1,2],[1,-21)0 000 (z+2)-(x—2)000
00000000.00000 [1,0-4000,2%2°-4,00,22-4000
O00O.deconvO 000 23+3224+3z+10 2°4+2+1000000000
000D000000.00000 234322+3z+1= (22 +z+1)-(z+2)—1
00000000000, 0000000000000 000000000
0,000000000000000000,00000000000000
oooog.

0000,0ctave 0000000000000 D0DOO0OODODOOO.O0O
000,0000000000000 MaximaOOOOOODODDO,0000
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obobooooooooooooooobooooobo.ooboooooooobo
gobooboooobogbobooobooooboo,baobooob,oboabo
googoog.

3.7 ODOOoOooM-ODOOO

Octave 0000, 00000000000000,MATLABR2006a00
gboooobobooooobooo.

0000 MATLAB/Octave DO 00000000 . 00000 (M-file)
o0o00o0oo0.0cO0 MAfileOOOOOOQOOODOO,000 MfileOOOO
00000000 pathOOOOOOOO, 0000 MAfileDOOOOOOO
go.

oboooooooooboooog.

function [z]=nekoneko(x,y)
if length(x)>length(y)
Z=X;
else
z=x./y;

end;

00000000 nekonekom 0O OOOO. OO nekonekom OO OO
00000000000000000000000|textttoctave|0 00 O

0 Octave 10000 OO0O.O00OO|nekoneko(4,3) 000000000
O.O0ctave 0O0O00O0DOOOOODOOOOO,00000000O000O00DOO.

octave:1> nekoneko(4,3)
ans = 1.3333

octave:2>

Octave D0 O0O0O0OOO0DOOOOOO MAleDOOOOOOOO.O,0O
obooboobobb end0O0O0O00O0OO0OO0OOODOOOO.

000 Octave U0 ODOODOODOODOOOOOOOCODOODO.OO0OMO
Octave 100 O00000O0OOCDODO.

octave:1> function [z]=nekoneko(x,y)
> if length(x)==length(y)

> z=x./y;

> else if length(x)>length(y)
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Z=X;
else
Z=y;
end

end

V V V V VvV V

end
octave:2> nekoneko([1:3],[3:-1:1])

ans =

0.33333 1.00000 3.00000

octave:3> nekoneko([1:3],[3:-1:0])

ans =

octave:4> nekoneko([1:5],[3:-1:0])

ans =

1 2 3 4 5

obooobooobooobogdwyyyeOOOOoOOoooOo.00b0o0o0oOooOogonO
gooo.

octave:6> type nekoneko

nekoneko is a user-defined function:

function z = nekoneko (x, y)
if length (x) == length (y)
z=x./7Y;
else
if length (x) > length (y)
z = X;
else
z =y;
endif
endif
endfunction

octave:7>
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Otype0000000O0O0O0O0O0O0DO M-fileDOOO0O0OOODO,00
gobobobooboo.bobboobodb whod OO OOOOOOO.

octave:8> who

**%*x currently compiled functions:

length nekoneko

*%*% ]ocal user variables:

aa bb

octave:9> type aa
aa is a user-defined variable
(1,2, 8]

octave:10>

U000whoOODOODOOOOODOODOODODO typeOOOOOOO
goobo.0,~r000000000000000O0O0C00000O. 000 ,who
gbooooboobooooobooon.

OO0 helpO0OO0O0O0O0ODOD,000 helpOO M-fileDOOOOOOO
oo000o0O0MAleDOODOO%DOOOO0O0OO0OOO.00D00CO0 nekoneko.m
OO00oooOo0b0b0helpOOOooooOoOooO.

% 00O nekoneko

h

% O00D0O0O00ODOOODOnelpOOonooonO
%» ODO00O0oOooooooo ¢co)vd

function [z]=nekoneko(x,y)
if length(x)>length(y)
Z=X;
else
z=x./y;

end;

000 nekonekom OO0 O000OOO,000000000.
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octave:1> help nekoneko
nekoneko is the user-defined function from the file

/home/yokota/WebPage/Math/books/source/octave/nekoneko.m
OO nekoneko

Uboo0obO0bo0oO000Onelp0onoonon
ooooooooobooo ¢mHvb

Additional help for built-in functions, operators, and variables
is available in the on-line version of the manual. Use the command

‘help -i <topic>’ to search the manual index.

Help and information about Octave is also available on the WWW
at http://www.octave.org and via the help@octave.org
mailing list.

octave:2>

3.8 UU0O0oooooooobbon

Octave U0 00ODOO0OD0OOOOO00DODOOO systemO0 OexecOOOOO
O0oooo.00 MATLABOOOO!'$0OooOOoOOoOoOoooooooooo
oooOo,00b0;00bo0obooboooboooobooboooboOooo
O00000. OctaveO00'O0O0O0O0000 not0 00O, ,MATLAB
OOctave 00ODOODOOOODOOOCOOOOOODOODOODODODODOO
oo.

exec JO0O0D0O0DOO0OOU0DODOOOOOOO OctaveD00O0OOOODOO
O0000OsystemO000,000000 Octave 00000, 000 system
goooooooooooo.

O000system 00000000000 O0ODOOODOOODOO.

O0system 00 000OD0OODOOOOOCOOOODOODOOOOOOO
gooooOdobo.000ob0o0oo0obOo0obO0obo0bDOo.ooboobooo
000000000000 d00boO0ooooooooo x1oooogoon
oo.
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#!/bin/sh
1s -1 | awk ’{print $5}’>x1

O0system 00000000000 mikeOOOOODOODO.

function x = mike ()
system ("tama");
load ("x1");
x = sum (x1);

endfunction

OO0 mike0O0O0O0OO0OO0O000000 tamal systemO00000C0O0O,O
goboooboxliooooo,0000o0o0oooooofb.d,systemO000O
Oo0D00tama 00000 pathOOOOOO0ODOO0OOOCDOOOOOOO
ooo0OO0o0oOooooObDO00.0,0000000 system("/usr/bin/tama")
gboooboboobobobooo.dbsystem 000000000000
Oo0000000000, system("tama mike") 000000000000
gboooooot"oooog.

O00,000000D0000 pochiDOOOOOOOOOOOOOOOO
0000 x1000000.000tama 00000000 O0S1000O0O0OO
goooo.

#!/bin/sh
1s -1 $1 | awk ’{print $5}’>x1

00 pochiDO O mike 00000 kwroO OO OODOOO.

function x = kuro (wrd)
evl=["pochi ",wrd];
system (evl);
load ("x1");
x = sum (x1);

endfunction

OO0 kuwroOO evlUO0OOOO0OOO0OOOOOO.000,wrdOOO” /ust”
0000000, /usr00000000D0O0O00DOO0DOOO0DOOODOOOn,
evlJOOO0O”pochi”’0 word 000000007 /ust”000 00O ”pochi
Just’0000000.0000 system00000 (OOO0O0 evlO"OOOO
0000)0000000x1000000ooooooao.

O00O0system D00 0000000000 OODOODOOOOOOOO
0,000 Octave D0DODOOODOODOODOODODO,Octave0000000O00
oooooooooo,0ooc00ooo0oooooOooobooooooon.

0,0ctave 00 c¢dsO00 pwd D0 O0DO00OO0O0O0O0DOOOO.000 UNIX
goopoooooooog.
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40 0OO0O0OOOO

4.1 0O0000O0O0O0O0OO0OOO

MATLABO Octave 0000000000000 LAPACKOODODOOO
0000000000000000000000000.000,00000
00000000000000000000000.

OMATLABOOOOCOOOOOOOOOOOO,0000000000
0000000000000 000000000000000.

00,0000000000000,0000000000000000.
Octave 000 +,0-,0.%0/00°'00000000000000.00,0
0" 000000000000000000000000.000, a*20
2’050 a*al sqrt(a) 00 000000000000

000,000000000rand000000 10000 10000000
0,a*,2 20000000000000000000.

000,000000000000000.0000000000 (Pentium
31GHz0O SuSE 93000 PC)00000000.00,00000000
0000000,00000000000.

octave:9> tl=time;a.*a;t2=time;t2-tl

ans = 0.00011706

octave:10> tl=time;a. 2;t2=time;t2-t1

ans = 0.00026608

octave:11> tl=time;exp(2*log(a));t2=time;t2-t1
ans = 0.00070596

octave:12> tl=time;a.*a.*a.*a.*a.*a.*a.*a.*a.*a.*a.*a;t2=time;t2-t1
ans = 0.00032997

octave:13> tl=time;a.”12;t2=time;t2-t1

ans = 0.00032210

octave:14> tl=time;exp(12xlog(a));t2=time;t2-t1
ans = 0.00071812

obooboobooooobo200000b00b00000b0b0b0O0DbOon
goo.ob,b0b0booooooboboboboooooobobo 20
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gboooooooo.ob,bo0o0o0boobooboooboOooocooboon
ggbo,bgobuodaboboooboooboa,boabooboo,0bogaoo
googobog,boobobooboboobg,boooobooobobo
gooooa.
obO,0000000000000O00bO0bO00bOb0O0O00ooO00.00g 9
gobob3ooboobooboobobbobooboooboobg.

octave:15> tl=time;a.*a.*a.*a.*a.*a.*a.*a.*a;t2=time;t2-tl
ans = 0.00025606

octave:16> tl=time;b=a.*a.*a;b=b.*b.*b;t2=time;t2-t1

ans = 0.00020099

octave:17> tl=time;b=a.”9;t2=time;t2-t1l

ans = 0.00032377

octave:18> tl=time;exp(9*log(a));t2=time;t2-t1

ans = 0.00072813

oobooobooooboooooboooooboooobooooboooo,ogoon
oboooobooooobooboo.obooobo,0b0b0o0ob0obooobooon
015000000000000.0000 Octave0O0O0O0O0O0O0OOOO
gboooobooooooobao.

obooo,0b0bo0oooboooobooooooboo,0oboobooooaon
OlgOOO00OO0OOOOODOODOODODODOOODO.

goboooboooboobooooboobooooooooboo,obobooooboooo
go,0000,00000000000000000DOO0O0DOOOOO0OO0
oboo0.o0oboooobooooooboooboooboooooooo,bboobon
ooooooooooo.

goooooOOoOOOoOoOoOoOoOoOoOoooooooOooOOOOMATLABOO
ooooooDoO fr0000DOOOOOODOOODDOODODOOOO
oooooO0oOO0.000 MATLABODOOOO,00O0ODODODOOOOOO
oooooooboooobo,bbo0o0obbo0obo0ooboooobooOoooDo
gboooboooobo.cooobo,boob0oboooboooobooon
o, 0000boboboboobooooooooo.ooo, 0000000
oobooooboooboooobooooo,bo0b0b0o0oooooooDn
goooooooon.
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4.2 UO0O00O0O0O0OOO0OOOOO

MATLABOOOOOOOO,0000000000000C0000O00
0.00000000000000000,00000000000 forOd0d
Oloop0OO0ODDO,0000000000DDDOOCODOODOOOOO.O
o0ooDooO00oOoooo0oooooo0oO0Oo MATLABOOOOOOO
gbooboobooooooao.

oboooooobooboo,bob0o0o0boobooboooooboobooooo
ooooobooooooobooobbo.0oobooobooobooboboobnb 2
oooooooooooooD,00odbb find0000O0OOOOOOOO
gooooa.

O,0ctave 0 MATLABOOOO 1,00 0000COOOOOO0O0.O0O
o0ooo0o,0000oooo for0dooooooOob0o0o0ogooooo
ooooooo.

octave:66> x=[1:5,5:-1:1]

X =

1 2 3 4 5 5 4 3 2 1

octave:67> x==

ans =

01 0 000 0 0 1 O

octave:68> y=find(x==2)
y =

octave:69> x(y)

ans =

oooooz200000000D0O000DOO0COOO,0000000
ob200000000000000000DL0.00000DODODOO
g, gbooogobooboooooa.
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octave:83> x=[1:5,5:-1:1]

1 2 3 4 65 5 4 3 2 1

octave:84> y=find(x>3)
y =

octave:85> z=x>3

6 o0 01 1 1 1 0 0O

octave:86> z.*x

ans =

0 0 0 4 55 4 0 0O

Ul findO00O0OO0O0O0O0O0O0OO0OOOCOODOOOOOOODOOOO0OO.
Octave OO0 (i,j)) 00DO0O0O0OOOOOOOOO, 0000000000
00000000 x(find(x>3)) 00000000000000. £ind(x>3)
gbooooboooboob «>30000000000000000000O
00000000000.00000mO0On00000 (1,j))000 mxnO
ooooooooo0 m(j—1)+¢00000000000.

octave:5> aa=rand(5);
octave:6> bb=aa>0.5
bb =

O = O = =
, O B B
= O = O O
= = O = O
O O = O =
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octave:7> find(bb)

ans =

0 N o >N

10
13
15
17
19
20
21
23

octave:8>aa(find(bb))
error: single index only valid for row or column vector
error: evaluating index expression near line 8, column 1

octave:8>

goobbosbiOodiobibdadbbbooooboooon
gbo,00000000000000b00b00b0obobobooboobooon
go.

MATLABOOOOOO,y=x(x>;3) 000 find0 0000000000
ooooooob.bobooooboboboooobooooobooboooo.

goo,000b0o00boooooooo 3oboboobooboooogon 2
obooooobooooooboooooon.

octave:89> x=[1:5,5:-1:1]

X =

1 2 3 4 65 5 4 3 2 1

octave:90> y=find(x>3)
y=

4 5 6 7
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octave:91> for i=x(y)
> 2%]

> end

]
¢}

ans
ans = 10
ans = 10

ans = 8

OO0O0O0O0MATLABOOUOUOOO forOOOOOOOOOOOOOOO
goooobo.oo,bo0obooboboboobooboo,ooboooboobooo.

octave:1> x=[1:5,5:-1:1]

X =

1 2 3 4 65 5 4 3 2 1

octave:2> z=zeros(size(x));
octave:3> z(x>3)=2*x(x>3)

zZ =

o o0 o 8 10 10 8 O O O

oboboobooboobo «>00000 2,2<00000 -100000
oo0,000000000bo0 fr0DO0OO0O0O0ODOOODO,0000
goooog.

octave:10> (x>=0)*2+(x<0)*(-1);
octave:11> tmp=(x>=0);
octave:12> tmp*2+(1-tmp)*(-1)

OD000O00o000000oboo0obO0oboDb00D0.00000 Pentium
31GHzOOO pCOODODODO.

octave:105> x=rand(100000,1);

octave:106> ti=time; (x>=0.5)*2+(x<0.5)*(-1);t2=time;t2-t1

ans = 0.042382

octave:107> tl=time;tmp=(x>=0.5) ;tmp*2+(1-tmp)*(-1);t2=time;t2-t1
ans = 0.027326
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octave:108> tl=time;tmp=(x>=0.5) ;tmp*2+tmp-1;t2=time;t2-t1
ans = 0.023695

octave:109> x;tl=time;for il=[1:length(x)]

> if x(i1)>=0.5; x({1)=x(11)*2; else x(i1)=-x(il);

> end;end;t2=time;t2-t1l

ans = 8.4271

goboobbez>050z2>20500000000000000000¢0.
gbobgoog os00b0b0bobuobobobo,obob -1000
gbooobooooobo.bo0ooobooboobooboboooo,booon
ooooooooooo.ooo,0000D0 for00oo0O, 0000000
oooboooob.obooooobooooboo400b00b00bOobonoon
gbo. oo, obobobooooobooboobobobooooboooo,oon
Ofor0000000O0DDOOOOOOODODOOOOOOOD.OOOOO
00,000 for00000O0O0DOOOODOO,DO000D0OQ000DOOOO
oboooooooooobooboooooboooboooo.

O, 0000000000 MATLABQO Octave 0000000 any O all
obob000b0..nyO0O00O00O0O0O0O0DO0O0OO0O0COOOO0DO 1,00000
000 o00000.00000LMO0000D000O0000DO0O0 10O
gbo,00 ooboboo.ooooboobobo,boobooooboboooon
goo.

octave:1> a=rand(4,5)-rand(4,5)

a =

-0.671536 0.539990 0.205556  0.171495 0.276634
-0.784795  0.585699 -0.274086 -0.448760 0.131415
-0.072425 0.276092  0.355440 -0.257676 0.357314

0.356246 0.061500 -0.318618 0.241485 -0.295221

octave:2> if any(a(:,1)>0)
> 1st=find(a(:,1)>0);

> b=exp(a(lst,1));

> end;

octave:3> b

b = 1.4280

Ubdbany0OOO0O0O00,00000000000000000000
obooboooboobooooo.ob0, 000000000000 anyO O
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oo0ooO0o0oo0oooboo.000 10000 100000000 Al0O00
gooo.

octave:11> all(a(:,1)==a(:,3))
ans = 0

octave:12> a(:,1)=a(:,3);
octave:13> all(a(:,1)==a(:,3))
ans = 1

octave: 14>

oooooobooooo0oooooooooboooforodonooOO
ogobooooooboooooboboooboooboo.
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s OO

5.1 JOO00OooOon

Octave OO OODOO0O gnuplot 0O0OD0O. OOO,gnuplot 0 OO0
000o0o0o0ooooooooDoooooDooooon.

0000,00000000000 MatlabODOOODOOODOOOOOOO
0000,00000000,0ctave01000000OC00O0OOO,0000
ooooooo

00,00000000000000D000000. DoDoOooDoooo
oood0oodoo,00o000oo0ooUoDoUoo0. boooooogo
Oplot00000O0OO0.

plot O O

plot((Y — 000 ),(00 ), )
plot((X —000 )Y —00O0),(00),--)

OO0O0O,plot000 YOOOOOODOODOOO,0O0DOOOOO,000
O0000000oooo0.000mO0On0000 AODOODOOO,plot0O
00, A0 n000000D0O0CCO0.00D00XO00100n0000,Y
000,00 XO0Ooooooooooooooooooo.

oo Xo0oyoooooooooooooooo.oooo XxXoyooo
oboooooboo,0boobooboobon.

e JOODOODODOODO

OO0DO000o0O00O000O, grid00DO00O00.0O0 grid00O0O,
OO00000O0O0O0on”07ef’ 0000000.on0000OD00OO0O
C.of0000000000000000.

e JOODOOODOODOOOODO

OO00o0ooOoODOO0oOoOooooooooDoOoObhdOODDOOO. O
OholdODOO gridO00D0OO00,000000000"on"O"off"O
OO000oC.on00000O0O0OO0OO0Of00O0O0OOOOOOGO
gboo,0bobogbooaog.
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e JO0OOOOOODOODOODODOO

X0O,YO,Z0OOOOOOODOOOOO xlabel, ylabelzlabel 0 0 O
0000.0,0000000000004itle0000000.000
00000000000000000.

go,00boboooboooboon.

octave:
octave:
octave:
14>

octave

octave:
octave:
octave:
octave:
19>

octave

octave:
octave:
octave:
octave:
octave:
octave:
octave:
octave:

octave:

1>
2>
3>

5>
6>
>
8>

10>
11>
12>
13>
14>
15>
16>
17>
18>

al=[0:0.05:1]*2*pi;
bl=sin(al);
plot(bl);
plot(al,bl);
xlabel ("X")
ylabel("Y")
title("sine curve");
grid("on");
hold("on");
cl=cos(al);
plot(al,cl);
title("red:sin, green:cos");
hold("off");
plot(al,bl,al,cl);
X=[al;all;
Y=[bl;ci];
plot(X,Y);
plot(X’,Y’);

ooboooooooooooobOoOooOo0oooOo.obooobplOoOOO,
os100000 X0000000000000.

051 0000000((0OO0O00)
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1

O0,00aa10000b1000000,05200000,00a10 X4,
OO0blOYDOOOOOOOOODODOOOOD.

0520000000

00 xlabelO ylabel D00 XOO YOOOOOODOD titleDOOOOO
O000000ooO0o0ooo0O,0s300000.00xlabel00OOOODO, O
oboo,000o0b0o0oboooo.

053 0000000000000

0000,grid(on”) 00000000000 5400000.

054 00000

oooOoO0oDbo0ooOoOoo,000000b00000.000bold OO
40

000,plot00000000000,00000,plot0000000000



00.plot 0000000000 ,plot(al,bl,al,c) 000 X0 YODODO
00000000,X=[al;al] 0 Y=[bl;cl] 000 X000 YOODODOOO
000 plot(X’,y’) 0000000000000.000000000 5.5
0000D00000O00O0.

0 5.5: plot(X’,Y’) 0000

OplotX,YOOOOplot 00000000000 ODOOO,DO 560
gbooobooboooobooboo,coooboooooon.

0 5.6: plot(X,Y) OO OO
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(0600 Octavel fileOO OO OOO

OOoQoOoO0O.Octave0D0O0OO0O0OOOOOOOOODODODODODOODODOOO.
oo, 00000000000000,0000000O000DOO000D00,
obooooobooooobooog.

6.1 loadOODDOO0O0ODOOOODODOOOO

OO00D0OoO0,0000D0Oo0000Do00boood leaddOnoooOg
go.

O00O0oO0o0o00DooO.0000000000 nekoO0D0O,00000
gobogoooooan.

0000 nekoO OO

123
456

000000000 neko00O00000000.000000]load neko]
000000000000000000000000000.

octave:1> load neko
octave:2> neko

neko =

gbooboooboboooo.coobobooboobooboooooboooo
oboooooooobo.ob0,000,00000000000000000O0
Oo.00o0boooog

octave:3> load neko
warning: load: local variable name ‘neko’ exists.

warning: use ‘load -force’ to overwrite
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error: load: unable to load variable ‘neko’

error: evaluating index expression near line 3, column 1

00,000000000D0000.Octave000000OoDOOOOOg
gboooooobooboboooooboboo,bob0oo0oobooboaon
o.0o00,000b000oooboobocoboobooog.

000 JlcadO00O0O-foree0000000000DOO0O.O0D00O0O ,|load force neko

goooooooon.

octave:3> load -force neko
octave:4> neko

neko =

obooooooobo.ooooooooon.

00,00000000D0000000D0OC0O0O0O00D0.00 nekoOOd
000000000 mpekomatrix00000OOOODOOOOOO,000O0
gbooooooa.

octave:5>load neko.matrix

warning: load: local variable name ‘neko’ exists.
warning: use ‘load -force’ to overwrite

error: load: unable to load variable ‘neko’

error: evaluating index expression near line 5, column 1
octave:5> load -force neko.matrix

octave:6> who

**% local user variables:

neko

octave:7>

J0do00o0o0odoOooo0.0000000oOoooooDOooDOooooo
O000,0000nekomatrix D000 nekoOOOOO.O0O0O,load OO
O-force0 00000000000, 0000000D000D000DO0O00O0OO
O0.000whoDOODOODOOOOOmekoOOOOODOOO.O000
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00000000 neko00O0ODOOCOCOOO0.O00 whoOOOOOOOO
ooooooooon.

ooooobooobooboboooogo,0opboobooboooboo. O
gbobobobooooobooboobOgbdsave00D000O00O .savedO
0000 whoOODODOOOOOOODOOOOOODODODOOOOODODD
oooogooo,bobooooooboooobooboo,boobo,00b00obooon
gbooooboooon.

octave:1> a=rand(4,4);
octave:2> b=rand(3,1);
octave:3> save neko a
octave:4> save test

octave:5> who

***% local user variables:

00000,00 ab000rand0000000 40400301000
0000000, [save neko a|J, 00 a00000 neko 0000, save
test 0000 ,who 00 0000000000000 000 test 00000
000.000,0000 neko00000 test 00000000000 .

e 0000 nekod OO

# Created by Octave 2.0.16, Thu May 10 08:21:44 2001

# name: a

# type: matrix

# rows: 4

# columns: 4
0.590789258480072 0.222358718514442 0.876821994781494 0.949454307556152
0.741063475608826 0.656238257884979 0.365377485752106 0.979949235916138
0.395543217658997 0.417380422353745 0.444111585617065 0.857901215553284
0.568090081214905 0.558982253074646 0.0379265695810318 0.475694209337234
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e JOODO testOODO

name: a
type: matrix

rows: 4

H H H H

columns: 4
0.590789258480072
0.741063475608826
0.395543217658997
0.568090081214905

Created by Octave 2.0.16, Thu May 10 08:21:53 2001

0.222358718514442 0.876821994781494 0.949454307556152
0.656238257884979 0.365377485752106 0.979949235916138
0.417380422353745 0.444111585617065 0.857901215553284
0.558982253074646 0.0379265695810318 0.475694209337234

# name: b

# type: matrix

# rows: 3

# columns: 1
0.628571033477783
0.415022879838943
0.216913774609566

Ub000saved 0000000000, 00000000C0000D0O00
ooooo,0o000ooo000,who00O0D0OOOO0OOOOOODOOOO
oboooboobooooooo.

oobooooboobboobbooonbsavedO0O-appendD000ODOOO
gbo0.000,000¢test000000O00O0O0 cOOODOOOOO,0O0
obobooooooon.

octave:6> c=[1,2,3];

octave:7> save -append test c

ob00,000000000¢testd0O0O0O00OOOOOOOO.

# Created by Octave 2.0.16, Thu May 10 08:21:53 2001

# name: a

# type: matrix

# rows: 4

# columns: 4

0.590789258480072 0.222358718514442 0.876821994781494 0.949454307556152
0.741063475608826 0.656238257884979 0.365377485752106 0.979949235916138
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0.395543217658997 0.417380422353745 0.444111585617065 0.857901215553284
0.568090081214905 0.558982253074646 0.0379265695810318 0.475694209337234
# name: b
# type: matrix
# rows: 3
# columns: 1

0.628571033477783

0.415022879838943

0.216913774609566
# name: c
# type: matrix
# rows: 1
# columns: 3

123

obooooooobooblead0OdoOo,0booboobobogobon
gbg0,0000b00000b00b0.0b0test000D0O00OO0DOOO
test0U00 al cO0OOO0OOOOODOOO0OOCODOOOO.

octave:8> save test
octave:9> save test a c

octave:10>

sasve UODODO0O0O0DO0 a0 cO0OO0DOO0OtestODDOOO0OO0DOOO
go.

# Created by Octave 2.0.16, Thu May 10 08:29:54 2001

# name: a

# type: matrix

# rows: 4

# columns: 4

0.590789258480072 0.222358718514442 0.876821994781494 0.949454307556152
0.741063475608826 0.656238257884979 0.365377485752106 0.979949235916138
0.395543217658997 0.417380422353745 0.444111585617065 0.857901215553284
0.568090081214905 0.558982253074646 0.0379265695810318 0.475694209337234
# name: c

# type: matrix

# rows: 1

# columns: 3
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123

Osave 000000000 loadO0000OO0OO0ODOOOO.

octave:1> load test

octave:2> who

*%% ]ocal user variables:

octave:3> a

a =

0.590789 0.222359 0.876822 0.949454
0.741063 0.656238 0.365377 0.979949
0.395543 0.417380 0.444112 0.857901
0.568090 0.558982 0.037927 0.475694

octave:4> c

octave:5>

oboo,000o0b00boooboobooocobooboooooboon.

MATLABO Octave DO OOOOOOOODOOOODO.ODODOOODODOO
ocoooooo,coooogooooooooo.coooooogg,o
OO000000000oOOO0O00000O00OD.0000,Octaveddd
oooooOoOoOoOOoO0O0OMATLABOOOOOOQOOOOODOOOOOO
0000000000000 U00oooo.00o0o0O MATLABOOOOO
O0000o0oO00ooo,Octave0 0000000 O0ODOOOOODOOD.
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6.1.1 00000 OpenO Close

00000 Openl fopen OO OOODODO.
fopne0 0000

id = fopen((OOODOO){(O))

00,(00000 ) 00 ’neko’ O ’test/neko.dat’ 000000 00D OO
O000U0O00U0o0oooOoo.oO0fopen000 (O )0D0OOOOOOOO
ugd.

- fopen 0 O N
1. r’ oon
2. ’w 000000
3. a7 DOO0OO0o0Oo0o
4. v+ 0O0O0.0000000
5. 'w+’ 00O0.0000000
6. ’a+’ 0O0O0D0O.0000000.

N J

fopen 00 O0O0O0O0OODOODO.ODO0D0dODODOOOOODOODOOO,
gooobogooboboooboooo.o,0oobooboooobooboo
ooooooooooooooooo-1goboooo,o0o0ooooo
0000000000 00.00,00000 close D COOOO fclocse O
00000 fclose(id) 000000 O0DOOOOOOO.

gooobooooooboobooboboooo.obooooooooooo
goboooboobooobbooo,booobbuooobobooooboobo
gooobooo.gob,0boboboobobooboobooboooboooboo
Ofrewind0OOOOOO.

00000000000 fgets,fputs,fscanf 00000000, 00000
o0 codooouoooooooo.ooog,0oogooo cooooo
000D00Do0DoOoOoooOoooOooooo.oo MATLABOODOOOO
00doOgo,Octave 00000000000 OODODOODOODODOOO
o0,00000000000DO000. OooDboooooooooooo
O0.MATLABOOOOOOOOOODOODOUODOO,00D00O0DOOoOO
ogd.

goo,000boo, b, 0ooboboobobo,obobooobon
0000000000 fgets0 000 streeam 0000000 ,stream OO0
OO0sscanf 000 000O00D0O0OOOOO0.00000O00OO0O0OOOO
gobogooog.
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6.2 UUOOOOO4O

00000000000d fgets(fscanf 00 OO0 OO0O0OO. O,Octave O
fscanf0 0000000 MATLABOOOODOOOODOOOOOOOO,00
O0,Clag000000000COOO fscanfO000000O000O0DO.O000
OMATLABOODDOODOOODOODOOODOOO,Octaved 000
00000ooooooogd, MATLABOOOOOOOODOOOODOOOO
0,00,0000000000000,fgets0 00000000 stream 00O
ooodO0o,00 streem000000000O0O0O0DOOODOO0ODOO sscanf
gooooooboboooo, bbb uooooooboooao.

00oDo00ooDoooooooo.0goooooooooooooooo
ooooooooooooooooo.
nekotxt DO OO OONO

123
321
ugbo,123000000,00000000.

oboooboo1l1002000000030000000000000¢0O
O0. 000000 (neko.txt’) 0 Octave D00 fgets 00D OO0 OO0
gbooooboooobooo.

octave:43> fid=fopen(’neko.txt’,’r’);
octave:44> Ll=fgets(fid)
L1 =123

octave:45> L2=fgets(fid)
L2 =321

octave:46> L3=fgets(fid)
L3 =00,123000000,00000000.

octave:47> frewind(fid)
ans = 0

octave:48> L4=fgets(fid)
L4 =123

ooooo,0bo0o0b00OD000000000 fopen D0 OOODDOO O
oobooooo.ocooo0o)yO0+0000000000. 0000,0
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000w 0O'w+ 000000, 000000000D0CO,000000O
gboooooboooooboobooog.

feets 000 000D0OO0ODOOO0ODOOODODOOODOOOOOODOOOD.
Oo00,0000000O0O000COO00000d, frewinddOOOO
oo.

O00D0JgeetsODOODODOOOODOOOOODOOOOO.ODDOO,000
oooooboooooooo Liooooobobo.obo,L1obobooooo
gbooooobooooboooo.

octave:56> L1+L1

error: invalid conversion from string to real matrix

error: invalid conversion from string to real matrix

error: evaluating assignment expression near line 56, column 3
octave:56> size(L1)

ans =

octave:57> L1
L1=123

0000,000000000000 feetsO0ODOOODOO fegetsO0000
Joo000000o0D0o0odoOo.000, 0000000000 oDOooOon
000000D0D0.000o00o coodOsscanf0000O00O0O.
sscanf 0 0000

% = 000000000
%f = 000000000000
%s = 0000000000

000,000 L1=1230L2=3210 sscanfO0O000O0O0O00COOOCO
gobooooooon.
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octave:51> all=sscanf(L1,’%d’)
all =

octave:52> al2=sscanf(L1,’%s’)

al2 = 123
octave:53> al2=sscanf (L1, ’%f’)
al2 =

octave:54> all=sscanf(L1,’%d’)
all =

octave:55> al2=sscanf (L2,’%d’)
al2 =

octave:56> all+al?2

ans =

0,d000,0ctave 0000000000 O0ODOOOO.O0000, MAT-
LABOOOOOOOOODOODO.O000 OctaveODOOOOOOODDOODO

o1



O0000000000O.0000 Octave MATLABOOOODOOOO
ooboooooobooooo,obobooooobobooog.
O000oooooooooooooooooooooooooog ,fgetsd
Oo0oo0oo0O0Osscanf0 00000000000 OODOOOODOODO. OO
o0,.L300000000b000b0bo00boo0ooboo.L3coooooon
goo,0000000boobooboobooboobooboooo,oobo
UbtamaO0000O0OO0O0OOOOODOO.

# No. Flag Value

1 t 10
2 f -10
3 t 20
4 f -20

OO00o0o0bDoOdO0OsscanfO0000O0O0DOOOODOOOO,0D000
oo00ooooooooooooOoooooo.0o0oo,MATLABOOOO
gboooobooobooobooboooobooobooon.

00,0000 tama000,0000000 sscanf0000 (%d’) 000
00 (%) 00000000 o0o0ooooooo.

octave:73> fid2=fopen(’tama’,’r’)
fid2 = 3

octave:74> tamal=fgets(fid)

tamal = # No. Flag Value

octave:75> tama2=fgets(fid)
tama2 = 1 t 10

octave:76> tama3=fgets(fid)
tama3 = 2 f -10

octave:77> tamad=fgets(fid)
tamad = 3 t 20

octave:78> tamab=fgets(fid)
tamab = 4 £ -20

octave:79> stl=sscanf (tamal,’%d’)
st1 = [1(0x1)

octave:80> stil=sscanf (tama2,’%d’)
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stl =1

octave:81> stl=sscanf (tama3,’%d’)
stl = 2

octave:82> stl=sscanf (tama4,’%d’)
stl = 3

octave:83> stl=sscanf (tamab,’%d’)
stl = 4

octave:84> stl=sscanf(tamal,’%s’)
stl = #No.FlagValue

octave:85> stl=sscanf (tama2,’%s’)
stl = 1t10

octave:86> stl=sscanf(tama3,’%s’)
stl = 2f-10

octave:87> stl=sscanf (tama4,’%s’)
stl = 3t20

octave:88> stl=sscanf (tamab,’%s’)
stl = 4f-20

O000Osscanf0 0000000000 DOOOCOOOOOODOOOOOO
0000o0o0.000,%d 000000000000 o0ooooooooo,
D000 flag0 000000000 CODOO0O0OOO,HagdOO0 No.OOO
obooooooooooo.oo,oboobooboooboooocooboon
gobooooboooboo.oob,0boboobooboooboooobooooDo,
gboooboobooooobo.oo,2 £ -1o0 2f-10000000000O
gooo.

0000 MATLABO sscanffscanf 00 0000000000000 0OO
O000000.000,0ctaved sscanf0 00 COOOOOOOO CcOO
gbooooboooboobobooooboooooa.

octave:94> [s1,s2,s3,s4]=sscanf(tamal,’%s %s %s %s’,’C’)

sl = #

s2 = No.
s3 = Flag
s4 = Value

octave:95> [n1,flg,n3]=sscanf (tama2,’%d %s %d’,’C’)
nl =1
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flg = ¢t

0000 Octave DO O0O,00 COO sscanfO fscanf 00000000,
00 cCOooooooooooooo MATLABOOODOOOOOO. OO
oo, 00ddoooobobuo,jgoobboooooobobooooa
o0ooooOoOoOoOoOOOODO,0000000000.

octave:96> find(tama2=="t’ | tama2==’f’)

ans = 7

octave:97> nl=sscanf (tama2(1:6),’%d’)

nl =1

octave:98> n2=sscanf (tama2(8:1length(tama2)),’%d’)
n2 = 10

octave:99> flg=sscanf (tama2(7),’%s’)

flg = ¢t

000,000 ind00000D0O0O0O0DOOC0O0 tama20000000
t0 {00 000000000000,000000000LOOO0O0O00QCO
O0000.000,00—0 Octave/ MATLABOOOOOOOODO.

ooooooooooooo#00000bOooobo0ooooooog
gooooooooooo.00o0,0oo000ooooooo,gooo#+ 0o
gbooobooboooobooboooooboon.

0,00000 Octaved MATLABOOOOO,00000000000
obooooobooooo,0o0obobooooboobooooobooobooon.

oooooooobooobooobo,bobooooobobooooo
u,gbooooboboooobooooooboon.

Octave 0 MATLABOOUOO COOO0OO0OO0O0O0OOO0OOOOOOOOO
oboobogoo,0boo0o0oboobooboboboboboooooobooooon
O00. 000 MATLABO Octave 00O OO0OO0OOOOOO,00000
gboooboobooooboob,booboobobooooboooboooa.

000 Octave 00 OO00ODODOOOODOOOODO.

octave:102> [neko.n1(1),neko.flg(1l) ,neko.n2(1)]=sscanf (tama2,’%d %s %d’,’C’)

neko.nl =1

neko.flg =t
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neko.n2 = 10

octave:103> [neko.n1(2),neko.flg(2) ,neko.n2(2)]=sscanf (tama3,’%d %s %d’,’C’)

neko.nl = 2

neko.flg = £

neko.n2 = -10

00000 sscanf 000000000 neko.nl,neko.fig,nekon20 0000
0d00.00oobobooooooobooooooooooooooon.

MATLABO Octave 0000 O0DO0O0OOOOOOODOOOOODOO
ogoodoboobooboooo.0oob, 000000 0bobobooooooon
ogoodboooooooooo,boboo,ooo0bobooooooooon
O,Octave 000, isstruct 0000000000 DOOODO, struct_elements
00000ooo0oo0ooo0oDOo.00,MATLABOOODOODOOOO
goooo,0bo00d0oooob.0ogo,ob0bobboooooo.

octave:104> neko

neko =

{
n2

10
-10

flg =

nl =

octave:107> is_struct(neko)

ans = 1
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octave:108>

octave:109> struct_elements(neko)

ans =

n2
flg

nl

0000 MATLABOOOOOOOOOOO,0o00oooOoooood
O,fgetsO sscanf 000000000 0O,00000000000C0000.

6.3 UUOOLOOOOOOOOLObLOOOn0

fopen 00 O000O0O0ODODOO,000,00000000,0000000
oooo.0o0,00ooo0f0oo,)wOooooooo.coooo,oono
gbobooboboboooo,bob,0b0bobooboo,boboobooon
ooooo0ooboOoooOo0ooDbOo.o,000Dbbo0o0oDoooooboOooya’ o
oboooo,00boboboobooboobooooobooon.

oo, 00bobooobooooooobbooooooooooobooogoo
gboooo,gboboobooboooboooobo.

function [err]=appendDATA(fname,mv,flg)
err = 0;
» 00000000
vfname=[fname,’.vdt’];
%» 000 flg==sO0000DO00,0000000000000O

»Oooog.
if flg==0

vip = fopen(vfname,’w’);
else

vip = fopen(vfname,’a’);
end;

%» 00Oooooog
[m,n]=size(mv);
if m>0
if flg==
fprintf(vfp,’ %d ’>,mv(1,:));
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fprintf (vip,’\n’);

end;
for k=[2:m]
fprintf (vfp,’%22.15e’ ,mv(k,:));
fprintf (vfp,’\n’);
end;
else
err=1;
end;
fclose(vip);

oooog,0oooooooo’ydt?’00000000O0.O,00000
goboooobooooboboooboboooo,2000000000000
O0mvO00O00D0O0O0O0OCOODOO0.000000000000 fprintf
000%22.15¢ 00 000000,00000000 CO FORTRANOO
00000000oo000.00,000007% 0000000000000
gbooooooooooon.

00000 Octave 00 O0O0O0000DO, 00000000000 COOO
0000000000 MATLABOOOODDOOODODODOOO,CcCO0000
gocooooOooooooooOooOoO0.0o,0000opoooooo
gboboooooooo,0obobobooboboboooooooooon
ooo.

OCOO0OMATLABOOOOOOODODODOOMATLABOODOOODODOO
gbooooobobooooo,bboboboboooboobobooboobgon
OO0O00oooO0oooUooooOOo.ooo,Octave JOOQOOODOOOO
MATLABOOOOOOOOOOOOOODODODOOODOODOOOOOOOO
goooooooo.
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Octave deconv, 24

o0 diag, 22
\, 12 E
712 e, 8
* 12 eps, 10
**12, 16 exec, 28
+, 12 eye, 22
w7 F
-, 12 fclose, 48
A\, 12 fgets, 49, 50
12 find, 32
./, 12 fopen, 48, 49
12 fopen O O, 48
/, 12 for, 8
5, 17,18, 21 fprintf, 57
5, 6,7 frewind, 48, 50
=8 fscanf, 49
==,8 G
©, 12 gnulot, 38
O, 28 grid, 38

ood H
y=a(x>;3), 34 help, 5
a(,j), 17 help-i0 0,5
a(i,:), 17 hold, 38
a(ij), 7 I
a(izj), 17 i, 8

A is_struct, 11, 55
all, 36 L
any, 36 length, 17

C load, 42
cd, 29 load -force, 43
conv, 24 Is, 29

D M
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M-file, 5, 25 oooo, 27

agooo,s god, 38

P oooo, 38
pi, 8 oooooooooooo,
plot, 38 39
polyval, 24 gooooo, 38
pwd, 29 O

R oooo, 30
rand, 30 O

S ooQ, 54
save, 44 a
save -append, 45 googd, 6
size, 17 O, 32
sscanf, 50 ad
oooooo, 50 oooooooog, 24
struct_elements, 11, 55 googono, 24
system, 28 goooooooooa, 24

T O
title, 39 ooooo, 32
type, 9, 26 g

W oooo, 42
while, 10 00 close, 48
who, 9, 27, 44 O 0O Open, 48

X oooo, 42
xlabel, 39 ooooo, 44

Y ooo, 32
ylabel, 39 g

Z oooo, 48
zlabel, 39

0 oooooogoo
0oo, 12 0

0 Octave, 2
gooooooa, s R

0 RLaB, 2
0, 32 S
0o, 17 SciLab, 2
oooo, 6 Y
oooo,7 Yorick, 2

O
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